
N = 313

313 circles in a 1x0.70000 rectangle

radius =   0.024835197894
ratio  =  28.185803189328

density  = 0.866425887893
contacts = 767

 E.SPECHT
23-AUG-2010

N = 314

314 circles in a 1x0.70000 rectangle

radius =   0.024709312520
ratio  =  28.329400076213

density  = 0.860404762082
contacts = 640

 E.SPECHT
14-AUG-2010

N = 315

315 circles in a 1x0.70000 rectangle

radius =   0.024654723094
ratio  =  28.392125813863

density  = 0.859335285389
contacts = 596
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N = 316

316 circles in a 1x0.70000 rectangle

radius =   0.024609832601
ratio  =  28.443915541991

density  = 0.858926959766
contacts = 647
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14-AUG-2010

N = 317

317 circles in a 1x0.70000 rectangle

radius =   0.024551334190
ratio  =  28.511688798092

density  = 0.857553632138
contacts = 622
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N = 318

318 circles in a 1x0.70000 rectangle

radius =   0.024523853476
ratio  =  28.543638163931

density  = 0.858334122547
contacts = 570

 E.SPECHT
14-AUG-2010


